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5. If a function f is continuous at @, which of the following statements, if any, MUST be
true? Justify your answer.
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Find all choices of @ and b such that f is continuous at ¢ = 1. ! £(x) 13
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/ Find values of @ and b such that f is differentiable at z = 1.

d. Draw the graph of f for the values of ¢ and b found in part c.

10. George takes a trip from St. Louis to Chicago, He leaves at 9AM on Monday and
arrives at 2PM that day. He returns on Tuesday, leaving at 9 AM and arriving back in
St. Louis at 2PM, retracing exactly the same route. Show that there is a point on the
road through which he passes at the same time both days. .
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I f(1) < 0 and f(2) > 0, then there must be a point z in (1,2) such that f(z) = 0.

If f is continuous on [1,2], f(1) < 0 and f(2) > 0, then there must be a point z in ol
(1,2) such that f(z) = 0.

c¢. H fis continuous on [1,2] and there is a point z in (1,2) such that f(#) = 0, then
f(1) and f(2) must have different signs.

d. H f has no zeros and is continuous on [1, 2], then f(1) and f(2) have the same sign.
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